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* Goal: find relationship between ADC signal I, ,, vs. particle vertex position V,,

 Detached Vitx: reconstructing particle vertices using reconstructed tracks through
the drift chambers (using Veronique Ziegler’'s code)

« Utilizes er*coincidences, with T events in the CVT
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« New cuts to the data:

— ntinthe CVT, e~ in the drift chamber
(Forward Detector)

— Xpiq < 3forbothn* and e~
— Cutonthe z-vertex -4 cm <V, <1lcm
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Cuts to the Data

X-Y Plane of Target
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Cuts to the Data

« New cuts to the data:

t in the CVT, e~ in the drift chamber
(Forward Detector)

Xpiq < 3 forboth * and e~

Cut on the z-vertex -4 cm <V, < 1cm

Cut all V. ,, not within 1.25 cm of the target
center

Target center taken as average V,,,
e X =0.2209cm, Y =0.2157 cm
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X-Vertex vs. ADC, Signal
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CCDB Data: https://clasweb.jlab.org/cqgi-bin/ccdb/show request?request=/calibration/raster/adc to position:16089:default:2022-09-23 03-36-41 6



https://clasweb.jlab.org/cgi-bin/ccdb/show_request?request=/calibration/raster/adc_to_position:16089:default:2022-09-23_03-36-41

* Not all particle vertices are close together; how far apart are they?
 Distance of closest approach S, is how close together the vertices are
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* Making cuts to S, had no effect on residual standard deviations of fits o,
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X-Vertex Data Y-Vertex Data
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Same residual of ~0.38cm
PO, pl variances shift values of x-vert. by 0.1mm to 0.4mm, y-vert. by 0.1mm to 0.8mm

95% confidence band is ~0.77cm, roughly 1/3 of target diameter...
Probably not precise enough?
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X-Vertex vs. ADC, for S, < 0.1 cm
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https://clasweb.jlab.org/cgi-bin/ccdb/show_request?request=/calibration/raster/adc_to_position:16089:default:2022-09-23_03-36-41
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https://clasweb.jlab.org/cgi-bin/ccdb/show_request?request=/calibration/raster/adc_to_position:16089:default:2022-09-23_03-36-41

X-Vertex vs. ADC, for S, < 0.3 cm

Y-Vertex vs. ADC, for S,, < 0.3 cm
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X-Vertex vs. ADC, for S,, < 0.4 cm

Y-Vertex vs. ADC, for S, < 0.4 cm
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https://clasweb.jlab.org/cgi-bin/ccdb/show_request?request=/calibration/raster/adc_to_position:16089:default:2022-09-23_03-36-41

X-Vertex (cm)

X-Vertex vs. ADC, for S, < 0.5 cm

Y-Vertex vs. ADC, for S, < 0.5 cm
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X-Vertex vs. ADC, for S, < 0.6 cm

Y-Vertex vs. ADC, for S, < 0.6 cm
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X-Vertex (cm)
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X-Vertex vs. ADC, for S, < 0.7 cm

Y-Vertex vs. ADC}, for S, < 0.7 cm
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X-Vertex vs. ADC, for S, < 0.8 cm
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X-Vertex vs. ADC, for S, < 0.9 cm
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X-Vertex vs. ADC, for S, < 1 cm Y-Vertex vs. ADC, for §,, < 1 cm
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